oln

iy

=

ol

e

ny

o)

N

)

oju

(o]

Q

Il

(]

=

l_l

[a]

N

—_

N o

< o

< ™

N
3

<+

B X

~— 1o

S il

T T

® (5, 12, 13)

@D (3,4,5)

® (5,5,5V2)

@ (6, 8, 10)

12+(\/§)2<22




2.

the A AABC & A Z4tztgo

2|20 g sH= Hhgl o] Hol=?

@571' @671. @771_

B

@)8n

rok
(&
lo

® 9n

my

BC =V10? - 6% = V100 - 36 = 8

=

1
—xax42=38
g 7 n

ntaba] hx]2o] 4 ol HHelo] Yol

i



@ 35 ® 45

® 65

5

D 2

@5«/5

V125 =55

V100 + 25 =

x = V102 + 52




o

W 9]

iy &

£
9

of = A A(1, 2), B(6, —4) 7} ot T A Afole] A

®2vis @V OV @3vF  Os

61




35171 128 V2em® 9 ASRA|S] BjZba1e] ol

O 2+3cm @ 2+V6em @4 V6em
@ 4+3cm ® 4+2cm

A WA o] t x| e] Aol& gkl st
@ =128VZ = (4+2)’ ol
a=42

H&AA 9] Bfzhale] Pol

V3a = V3 x 42 =46 (cm)




274417k ABC ] 7t 9] Zo] x -1, x, x + 1 0|tk x9] BL9

D1 @ 2 ® 3

©)

® 5

(x+1)2=x2+(x-1)2
4o+ 1=x24+x>-2x+1
2 —4x=0

Lx=4(x>0)




7.

B A47k9 ABCD ] vel

w), AP =2, CP = 4 o|H, BP" + DP~ 9| Zt29

Ag— D
R
S
B —=C
@ 15 @20 ® 25 @ 30

AP E A B, C Do

BP2 + DP2 =22 + 42 =20




o 199 AAbE ABCD oA AB = 9,

12—

AD =12 9 of, %314 A o] A4 BD
742 9] A2 AH & F-5foi2h. (A2 BT
2) ‘

D 7.0 @ 71 @7.2 @ 74

® 76

BD= V9?2 +122=15
9x12=15x AH




ko)

+ 29 7479 ABC oA AB
ZAol=?

=

@6‘/5 @2@ @3@
@® 41T © 12V8

B

oJ

L: \/EZC_M:(S
- CM =23

x= /62 + (4V3)2 = 221

S~y



10. oS 23} go] W o] Htx]&9] Zo]7} 7em ©]
T A Q] Zol7} 25cm ¢l Yol Qi o] Yo

PR
49 V674
@ 1176mcm? @ 9 367 mem? ® 7V674wcm?
2
@ %ﬂcm?’ @3927TCH13

ABo| ol g 1, Y] RulS v e} ohH
h = V252 — 72 = 24(cm)

1
V="7xn1x24x 3= 3927(cm?)




@ 8 3®)10 @ 11 ® 12

@ 8

~&B

(x—6)(x—8)=0,x=6, 8

x2 — 14x + 48

x>09]BZ2 x =10 o]ttt




ABy o
AA E y T — =14 =
5, AB; = AA, © NG o] Zk
“FobH?
@1 @ 2 ® 3
@ 4 ® 5

B B, By, Bs By

/
1

\

.
A\\l—’/Al Az A3 A4

AB, = VI2+ 12+ 12+ 12+ 12 =

AB, V5 _ o
ﬂﬂiw v 10]tt.

V5ol




13.

_ 36cm?

85cm?

36 cm?
85cm? o]t}

7
7

po
=
£
—_

oI
o 9
N

d

rr

o o o
>
N
N
ofll o2l ofl

10 1o o

A & &

Ql Al =@
T

© 0

=

Bl\)

o

I=!

kul

A

Q

L

e)

B

o

Ko

)
)

i




14.

o+ 19 A4t7He ABC L g ¥

o7} 2cm o] A P = ¥ BC 99 ¢
Aol 4 P o4 AB, CA ol Y& 4
W 47 Q R 22 2 o, (PQ + PR)
Fhe ool

1o

gr
e, 1o
1o 1o 1o my

Q

~&B

Q
B
o1 @2 @3 @4 65
SPATAES o] Yol VS o2 :
474 ABC 9] | ij 2= B (et
AABC = AABP + AACP
PR= V3

L oxPO + L % 9xPR. PO
V3 =5 x2xPQ + 5 x 2xPR, PQ +

- (PQ+PR)" =3




15.

k-2 21T} Zo] gF A g|e] Aozt 6 9l A
AFAA] A - BCD o4 M o] BC 9] T8
o, AAMD 2] Ho]=?

@ 9 @ 10 ® 96 @ 943 @9\/5

V18 = 3V2 ot}
.'.AAMD:§x6x3V§:9V§




